Potencias de 10 (B)

49 =100

9100

44 =100

37100

64 =100

32100

54 =100

85+100

39100

4100

Calcule los siguientes cocientes.

78 =100

71100

77100

90100

60100

5100

76 =100

57100

77100

51100
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Potencias de 10 (B) Respuestas

49 =100
0,49
9100
0,09
44 =100
0,44
37+ 100
0,37
64 = 100
0,64
32+ 100
0,32
54100
0,54
85+ 100
0,85
39+ 100
0,39
4+100
0,04

Calcule los siguientes cocientes.

78 =100
0,78
71 =100
0,71
77 =100
0,77
90 = 100
0,9
60 = 100
0,6
5+100
0,05
76 = 100
0,76
57100
0,57
77 =100
0,77
51100
0,51
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